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Preliminaries and Objectives

Preliminaries
e Cartesian Coordinate System

Objectives
e Define slope
e Find additional points using slope
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Population Growth Finding Other Points

Year ‘ Population

1970 | 18,000
1980 | 22,000

(1970, 18000)
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(1980, 22000)

y
e (1980,22000)
o (1977,y)
e (1970,18000)
X
slope — 400 — y —18000  y— 18000

1977 - 1970 7
—  7(400) = y — 18000

= 18000 + 7(400) = y
= y = 20800
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Finding Other Points Finding Other Points

y y
o (1980,22000) o (x,40000)
° (1977, y)
. (1970,18000) « (1970, 18000)
X X
- Yy -22000  y - 22000 oo 400 40000 — 18000 22000
slope = 400 = 3577980 = 3 slope = 400 = —""9570 = x—1970

—. (—3)(4000) — y — 22000 —  (400)(x — 1970) — 22000
—. 22000 — 3(400) — y . x_1970 = _Ziggo _s5
= y=20800 —  x=2025

A = change in
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If two data points (x1, y1) and (xo, y») are connected by a

straight line, then the slope between the two points is given by

hic Design: R Hank
the formula Graphic Design obert Han

Ay Yo

slope =
P AX  Xo — Xq
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